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AR BARR= SN 2R
mE: 2oy U oYL
celr ZE8d o &2 EEECE))
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
O=2AA ALY SRH 0l 704
Il 352
S 352
SriZsize| A (= 1) 1,053,650 1,013,528 40,122
Il 970,032
[ 83,618
308 NHAIEFMISOIE 1,053,650 1,013,528 40,122
Il 970,032
= 83,618
01 AXHHBaEXS 1,063,650 1,013,528 40,122
2AL AN 1,053,650
Il 970,032
= 83,618
ojZJ|2 FsEX} el X (=12) 551,475 542,235 9,240
Il 551,475
308 AXIHMSOIA 551,475 542,235 9,240
Il 551,475
01 MXHHBExS 551,475 542,235 9,240
O g2t 2t 2l XH 551,475
Il 551,475
It ES AAI(=1) 15,677,450 16,144,333 A\466,883
Il 11,699,589
< 3,977,861
308 AXIEHMSOIE 15,677,450 16,144,333 A\466,883
Il 11,699,589
& 3,977,861
01 AXHHBeEXS 15,677,450 16,144,333 N466,883
OG0l HEES 7,020,662
Il 5,239,300
= 1,781,362
O0B0ld - RXIE - =SSt IEAUT
HYES 1,284,470
Il 958,560
= 325,910
OFsrd(1etd) ISR} HLES 192,802
Il 143,882
= 48,920
OBAIR QST HLES 62,038
Il 46,297
= 15,741
odgel HZLES 6,933,042
Il 5,173,912
& 1,759,130
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AR BARR= SN 2R
mE: 2oy U oYL
Rl 2EY8 Y # 2el (CH M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 130,560
01 XN B ELS 130,560 157,080 N26,520
OstdIelof At LIGHAL !IZ2XIE = 130,560
= 130,560
AEES 2ggDI2eUsE(20) 7,000 7,000 0
Il 3,500
& 3,500
201 LEr2E | 7,000 7,000 0
Il 3,500
(e 3,500
03 &A= I 7,000 7,000 0
oulsZgg I2etHs UussEd 7,000
Il 3,500
= 3,500
MEH =SHERY uE ¥ EFHXA(Z1) 24,900 25,500 2600
) 16,600
S 8,300
308 MR M S0IH 24,900 25,500 2600
Il 16,600
& 8,300
01 MXHHBExS 24,900 25,500 A600
Od=HA s 2ead 24,900
Il 16,600
= 8,300
MEH =SUHSRY HUESF FUHXA(=1) 24,750 54,000 A29,250
) 16,500
T 8,250
308 XIXIEMSO0IE 6,000 0 6,000
Jl 4,000
S 2,000
01 MXHHBEELS 6,000 0 6,000
OMEH2 Ul HE2S T 7 (2IEC) 6,000
Il 4,000
< 2,000
403 MXIEMSA=Z01A 18,750 54,000 A35,250
) 12,500
= 6,250
01 XXM X =22x 18,750 54,000 A35,250
O ZHle! Ul HHIESTF P (IEA) 18,750
) 12,500
= 6,250
MSHIY Yl HIs2 oS Xy 249(=21) 2,560 2,560 0
D) 2,560
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A= HAHS= A ZEE e
mE: 2oy U oYL
el Z238Y olg 2 o2el (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 5,000
& 5,000
01 AtR2eltl 10,000 10,000 0
OZLel2/OtEIXIAIEE 28 & E8 10,000
= 5,000
= 5,000
2etelor HEAR(2) 107,000 108, 150 21,150
= 107,000
308 AtXIEtMSO0IN 107,000 108,150 A1,150
= 107,000
01 AIXIEHHBAEES 107,000 108, 150 21,150
OZetelor BB AL 107,000
= 107,000
AT 2EyAXAT 29 XJ(=21) 607,000 600,000 7,000
= 303,500
o= 303,500
307 2IZto| A 607,000 600,000 7,000
= 303,500
& 303,500
05 2I2tRAES 607,000 600,000 7,000
OLRAT ZFH2L| XA 2 607,000
= 303,500
= 303,500
DZLHY B X AelgAXI Sl XA (31) 425,600 615,962 A190,362
= 212,800
& 212,800
308 AXISHMS0IH 425,600 0 425,600
= 212,800
= 212,800
01 AXIEHHBAEES 425,600 0 425,600
OID2LH9 At ZelYX=ZH XA 425,600
= 212,800
& 212,800
ZRE 2ggaAXJ 29 XA 24,000 24,000
307 2I12t0| ™ 24,000 24,000
05 QIZtRES 24,000 24,000
OZAT 2dFgae|kac 28 K& 24,000
SSEAHS G T AES XA 27,000 9,000 18,000
201 LEr2AH| 18,000 6,000 12,000
01 At22telt| 18,000 6,000 12,000
OZA EUXZ 18,000
406 J|EFA20]H 9,000 3,000 6,000
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AR BARR= SN 2R
mE: 2oy U oYL
Bl ZEE o 2 2 (EEREED
AT A ZH . SR(E) - KIRAIY - BSS ol ke i fimE=T
11 SI 2SI CHEHE & F2EAMSHI 182,400 0 182,400
OZ2LH9 MEXI=H 2Rz I/
PIE A 182,400
= 91,200
= 91,200
IZLH9 HEXxE 24 33,901 33,901
101 2124 b| 33,901 33,901
04 JI2tHI22 S E 33,901 33,901
OIDZLH9 MEXIzg XJesE 2 33,901
YA (2gE2en) 180, 161 162,813 17,348
| 24,697
= 155,464
oI3 2| 146,729 91,104 55,625
| 24,697
= 122,032
BAL FHALAMS (= 36,092 34,332 1,760
| 18,046
& 18,046
101 @I244| 36,092 34,332 1,760
Il 18,046
& 18,046
03 SR (RIAHY)Z2=ZRHE> 36,092 34,332 1,760
©OpIE=r= 2,245,160 <18« 128 26,942
Il 13,471
= 13,471
(OFSI=Eat=s 2,245, 1602 » 1 *35%*23| 1,572
| 786
= 786
OAIZtE) =
18,7603 * 1= +3A[ 2+ 10& 563
J| 281
= 282
(©JmE=={a] 100,000 x 1+ 122 1,200
J| 600
< 600
OZE S| 2,245,610 x23] x60% 2,69
I 1,348
& 1,347
Qi=E=Y 120,000& x1H 123 1,440
J| 720
< 720
O]l 140,000 x 1+ 128 1,680
| 840
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A= BARIS= SR E R
. ygdAd(2Eg2e|u)
chel: ol g CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
| = 840
HYEE & olaEtS Atz AE S X3 (=21) 13,302 13,302 0
| 6,651
& 6,651
101 @I244| 13,302 13,302 0
| 6,651
& 6,651
02 JIEtEE= 13,302 13,302 0
ONYES = 0l4EtE IS Al2 &S|
1,108,500& =1+ 123 13,302
| 6,651
= 6,651
DZULHOIHAZES19 It AE s X 97,335 43,470 53,865
101 I244| 97,335 43,470 53,865
02 JIEt& E 97,335 43,470 53,865
0SS T3
900,000& x3H 1201 32,400
OFIILRe=sTS3(HY)
45,0002 x3%H x2492! 33,615
OFINALRESTAHAS(FY)
90,0002 3116 31,320
JlE2&l 33,432 71,709 A38,277
EARY Jl2dd(2rggae|) 33,432 71,709 N38,277
201 LEr2 A 23,676 53,487 A29,811
01 At 22|l 23,676 53,487 AN29,811
FA2Y AIR22lH] 23,676
202 044l 6,156 14,022 AT,866
01 =WOdHI 6,156 14,022 A7,866
ORAM2E SLLHAHLI 6,156
203 R F&| 3,600 4,200 AB600
M EA2IHSFEI 3,600 4,200 AB600
©20¢2! Olat 300,000& =123 3,600
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